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	Рис. 3
 (
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	V0 = 2 м/с;
С1 = 4,2 кН/м;
С2 = 5,5 кН/м;
b= 100 Нс/м.

	V0 = 2,5 м/с;
С1 = 2,5 кН/м;
С2 = 4 кН/м;
С3 = 8 кН/м;
b = 80 Нс/м.
	V0 = 1,5 м/с;
С1 = 1,8 кН/м;
С2 = 3,0 кН/м;
С3 = 2,7 кН/м;
b = 32 Нс/м.

	Рис.4
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	Рис.5
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	Рис.6        m=50 кг [image: Ris75]

	V0 = 1,5 м/с;
С1 = 3,6 кН/м;
С2 = 8,65 кН/м;
b = 32 Нс/м.


	V0 = 1,5 м/с;
С1 = 280 Н/см;
С2 = 450 Н/см;
b = 18 Нс/см.


	V0 = 5,5 м/с;
С1 = 4,25 кН/м;
С2 = 6,0 кН/м;
С3 = 8,0 кН/м;
b = 1,2 кНс/м;
.

	 (
b
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)Рис. 9     [image: Ris78]

	V0 = 2,5 м/с;
С1 = 2,8 кн/м;
С2 = 9,45 кн/м;
b = 40 нс/м.

	V0 = 2,5 м/с;
С1 = 300 н/см;
С2 = 550 н/см;
С3 = 800 кн/м;
b = 16 нс/см.

	V0 = 3,5 м/с;
С1 = 2,25 кн/м;
С2 = 4,0 кн/м;
С3 = 6,0 кн/м;
b= 1,2 кнс/м;


	 (
b
) (
b
) (
b
)Рис.10 [image: Ris95]

	Рис.11
[image: Ris80]
	Рис.12
[image: Ris81]

	V0 = 1,55 м/с;
С1 = 20103 Н/м;
С2 = 35103 Н/м;
С3 = 10103 Н/м;
b= 250 Нс/м.

	V0 = 3 м/с;
С1 = 35 кН/м;
С2 = 25 кН/м;
С3 = 40 кН/м;
b = 120 Нс/м.

	V0 = 2,5 м/с;
С1 = 25 кН/м;
С2 = 15 кН/м;
С3 = 20 кН/м;
b = 160 Нс/м.
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	Рис.14
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	Рис.15
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	V0 = 10 м/с;
С1 = 16,0 кН/м;
С2 = 25 кН/м;
С3 = 30 кН/м;
b = 200 Нс/м.
	V0 = 1,8 м/с;
С1 = 300 Н/м;
С2 = 140 Н/м;
С3 = 180 Н/м;
b = 35 Нс/м.
	V0 = 2,4 м/с;
С1 = 100 Н/м;
С2 = 80 Н/м;
С3 = 200 Н/м;
b= 60 Нс/м.

	[image: http://upload.wikimedia.org/wikipedia/commons/thumb/1/17/SpringsInParallel.svg/208px-SpringsInParallel.svg.png]Эквивалентные жесткости пружин:
параллельное соединение         ;
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	Рис.16
[image: Ris85]
	Рис.17
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	Рис.18
[image: Ris87]

	V0 = 1,75 м/с;
С1 = 210 Н/м;
С2 = 300 Н/м;
С3 = 400 Н/м;
 = 75 Нс/м.
	V0 = 1,35 м/с;
С1 = 100 Н/м;
С2 = 200 Н/м;
С3 = 250 Н/м;
 = 100 Нс/м.
	V0 = 0,85 м/с;
С1 = 220 Н/м;
С2 = 320 Н/м;
 = 42 Нс/м.

	Рис. 19
[image: Ris88]
	Рис. 20
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	Рис. 21
[image: Ris90]

	V0 = 1,5 м/с;
С1 = 1,3 кН/м;
С2 = 2,2 кН/м;
С3 = 3,0 кН/м;
 = 15 Нс/м.
	V0 = 2,5 м/с;
С1 = 1,2 кН/м;
С2 = 2,5 кН/м;
С3 = 4 кН/м;
 = 100 Нс/м.
	V0 = 1,2 м/с;
С1 = 2103 Н/м;
С2 = 4103 Н/м;
 = 120 Нс/м.

	Рис. 22
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	Рис. 23
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	Рис. 24

[image: Ris93]


	V0 = 1,25 м/с;
С1 = 160 Н/м;
С2 = 250 Н/м;
С3 = 290 Н/м;
 = 28 Нс/м.
	V0 = 2,5 м/с;
С1 = 130 Н/м;
С2 = 190 Н/м;
С3 = 160 Н/м;
 = 65 Нс/м.
	С1 = 3103 Н/м;
С2 = 6103 Н/м;
С3 = 2103 Н/м;
 = 210 Нс/м.

	Рис. 25   [image: Ris70]
	Рис. 26   [image: Ris71]
	Рис. 27   [image: Ris74]

	V0 = 2,75 м/с;
С1 = 40102 Н/м;
С2 = 800 Н/м;
 = 48 Нс/м.
	V0 = 4 м/с;
С1 = 80 кН/м;
С2 = 40 кН/м;
С3 = 60 кН/м;
 = 60 Нс/м.
	V0 = 0,8 м/с;
С1 = 88,5 Н/м;
С2 = 100 Н/м;
 = 120 Нс/м.

	Рис. 28
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	Рис. 29
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	Рис. 30

[image: Ris99]

	С1 = 120 н/м;
С2 = 50 н/м;
С3 = 180 н/м;
 = 200 нс/м.

	V0 = 4 м/с;
С1 = 400 Н/м;
С2 = 200 Н/м;
С3 = 150 Нм;
 = 290 Нс/м.
	V0 = 1,35 м/с;
С1 = 50 Н/м;
С2 = 80 Н/м;
С3 = 100 Н/м;
 = 85 Нс/м.

	Рис 31
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	Рис.32
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	Рис. 33
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